
CALCOLO I 5 gennaio 2007

1. (6 punti)
Si calcoli il limite

lim
x→0

2 log(1 + x2) + cos(2x) − 1

x4
.
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1. (6 punti)
Si calcoli il limite

lim
x→0

x sin(2x) − 2 log(1 + x2)

x4
.
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1. (6 punti)
Si calcoli il limite

lim
x→0

2ex
2

+ cos(2x) − 3

x4
.
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1. (6 punti)
Si calcoli il limite

lim
x→0

2ex
2

− x sin(2x) − 2

x4
.
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2. (6 punti) Si calcoli l’integrale

∫ 2

1

ex + 2e3x

e2x
− 1

dx .
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2. (6 punti) Si calcoli l’integrale

∫ 2

1

2ex
− e3x

e2x + ex
− 2

dx .
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2. (6 punti) Si calcoli l’integrale

∫ 2

1

2e3x
− ex

e2x
− ex

− 2
dx .
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2. (6 punti) Si calcoli l’integrale

∫ 2

1

ex
− 2e3x

e2x
− 4

dx .
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3. (6 punti)
Si determini la soluzione y(x) del problema di Cauchy











y′′ + y′
− 2y = sin(2x)

y(0) = 0

y′(0) = 1 .
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3. (6 punti)
Si determini la soluzione y(x) del problema di Cauchy











y′′
− 3y′ + 2y = − cos(2x)

y(0) = 0

y′(0) = 1 .
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3. (6 punti)
Si determini la soluzione y(x) del problema di Cauchy











y′′ + 3y′ + 2y = − sin(2x)

y(0) = 1

y′(0) = 0 .


